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QUESTION ONE: Migration and monetary policy

Immigration surge threatens smooth path to lower interest rates.

Graph One: The New Zealand economy
Ar’
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(@) (i) On Graph One above show the effect of higher net migration by shifting both curves. Fully
label all changes.

(i)  Referring to the changes to Graph One above and the resource material, explain the
impacts higher net migration may have on economic growth.
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(b) Referring to the changes to Graph One and the resource material, explain how the higher net
migration could affect price stability. In your answer, state the current Policy Targets Agreement
and explain how this may impact the Reserve Bank's monetary policy decisions.
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QUESTION TWO: Fiscal policy and economic growth

Model One: A circular flow model of the New Zealand economy

Consumption Spending (C)
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(a) Use Model One and the multiplier formula [1/(1=MPC)] to calculate and explain the final effect
on real GDP and economic growth.
In your answer, assume changing tax brackets could lead to a $17.5b tax cut and that the

marginal propen

‘ -
F'TD3) € 'S ny r

, (Gl hanying He dax bugchers
by Oleceas.ny by around ¥z Pilion
(135 bilion /S88) will ~fesalt in a HlE.5 bilhon
Jor cut. The tuiriger etted ;s bused o0 fle
Concept Vhgt One Persons Spending 1S Quofleve
nme, Ve palligier s 358, ™ e an'ng V79
& 7'{0, QOV{'ﬂMeAJJ' cuy fax aad  jncesey

Economics 91403, 2024 0884

-
RN N

N &N T
\\-1\-‘1". o 2

B e T T o T WU (o S T o TR
N A AT P M A O ST e

e

-

g s e LTI TN D LT TR L W T
"»..\\"!\. ke ¥ \?\‘Q}:‘\?\\ X \“4‘ \\ \“\ \‘\‘?\'}\ .\. N k‘a\'\{ ‘\.\"‘f‘ X \K'\\

-
Ll by
TRANNN

TR L T,
;-i:\_'\\qn‘p,i LT T
b T W, VR, Y

e

3
Gt

TR

art
LY L™

SRR
SR AL T L |

sy

ar®
T



5

Consumery Osposible fﬁfOMej, fo — Wpeon fy Kz,
ihcome Would le spert .8 Fmes and fesql
n He Cguiyelant OF a7 s bhos Ak
Quf . W’)J would Generale  Econam, c Qrow/h as Jar
> R wdawd in He econamy. |7 would qenactie
ecofamc Qrowhh ol feal JAf as foddcere ould jmege
lnvesiment &) which i3 o0 myecton el suffy M . 4
Strvieg

Rather than providing tax cuts, the $17.5b could be spent on infrastructure, such as
improved transport, education, and healthcare facilities. This could allow the economy to
accommodate a larger population and also lead to a much larger increase in real GDP and
economic growth.

(b) (i) Explain how infrastructure spending of $17.5b will result in a larger increase in real GDP
and economic growth. Refer to Model One in your answer.
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(i) Explain why increasing spending on infrastructure could also create a larger (more sustainable)
increase in economic growth in the long run, compared to tax cuts. Refer to Model One and the
resource material in your answer.
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New Zealand has recently signed a free trade agreement (FTA) with the European
Union. While FTAs like this can lead to increased economic growth, they can also lead to
increased spending on imports, reducing the multiplier effect of domestic fiscal policy.

(c) Explain how increased imports could reduce the impact of the multiplier and, as a result, the
final impact either tax cuts or infrastructure spending could have on real GDP and economic
growth. In your answer, refer to Model One and the multiplier effect.
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QUESTION THREE: Internal influences on inflation and employment

Economic activity declined in New Zealand for three out of four quarters from December
2022 to September 2023. On a per capita basis, economic activity fell for all four quarters.

(@) (i) Based on the resource information above, identify and mark with an X on Model Two the
likely position of the New Zealand economy in September 2023.

Model Two: The business cycle
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(i)  Explain your choice of location of the New Zealand economy on Model Two.
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Graph Two: The New Zealand economy
with falling house prices
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(b) (i) On Graph Two above, show the effect of falling house prices by shifting one curve. Label
all changes, including to the recessionary gap.

(i) Explain, using the changes you made to Graph Two above, the effect of falling house
prices on inflation and employment.
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Fuel prices have risen since the fuel tax discount ended.

Graph Three: The New Zealand economy

with higher fuel prices
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(c) (i) On Graph Three above, show the effect of rising fuel prices by shifting one curve. Label all
changes, including to the recessionary gap.

(i) Explain, using the changes you made to Graph Three above, the effect of rising fuel prices
on inflation and employment.
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(d) Explain which of falling house prices or higher fuel prices will have a greater impact on inflation

and employment. In your answer, refer to the changes you made to Graph Two and Graph
Three.
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Subject: Economics
Standard: 91403
Total score: 16
Q Jels Marker commentary
score

The response was awarded an M6 because the candidate:

e shifted both curves correctly, AD shifted more than AS and PL,
and Y; marked correctly.

e identified the increase in C (consumption) due to the larger
population causing an increase in business confidence and
investment (I) causing an increase in AD

¢ identified the easing of wage growth leading to fall in costs of
production (COP), the increase in profitability leading to
increase in AS, but without an explanation that would be
needed to achieve Excellence

e identified there would be demand pull inflation, but incorrectly

One M6 stated cost push inflation

e stated Y shifts to Y1 but with no comment on real GDP (Gross
Domestic Product)

e did not explain that the increase in AD was greater than AS, as
would be needed for Excellence

e stated PTA (Policy Target Agreement) being 1-3%

e indicated that the increase in Price Level will likely be beyond
3%

e explained that the Reserve Bank increased OCR (Official Cash
Rate) to reduce inflation

e explained the impact of an increase in OCR on savings,
consumption, investment, and therefore AD and demand pull
inflation.

The response was awarded an M6 because the candidate:

e stated the concept and multiplier correctly but did not give the
final change

o referred to Government spending being an injection to the
circular flow model (CFM) causing an increase in employment
and household income, stated increasing productivity leading

Two M5 to economic growth, referred to the model Y and M, and gave
examples of infrastructure spending

e referred to increasing capacity, employment, and tax revenue
whereas changes in tax brackets leads to decreased
Government revenue and Government spending (G)

e stated that import payments (M) will increase, and this leakage
will reduce the multiplier.

The response was awarded an M5 because the candidate:

e marked X correctly

e Decreased AD correctly and showed the original and new real

Three M5 GDP

e referred to the resource

e stated a decrease in C (consumption) due to the wealth effect
impacting AD

e stated the decrease in PL is a decrease in inflation




stated the that the decrease in Y leads to an increase in real
GDP due to underutilisation of resources (labour) so there is a
decrease in employment

identified the correct fall in AS and increase in real GDP
identified fuel as a cost of production (COP), but not how it is
used as would be needed for Excellence

identified that goods are less profitable causing increase in PL,
cost push inflation, and the release of staff causing increase in
unemployment

referred to the model, price level, and real GDP

made a choice due to wider impact

referred to the graphs.






